**BOCKY MOUNTAIN** JOURNAL OF MATHEMATICS Volume 33, Number 3, Fall 2003

## OSCILLATION AND NONOSCILLATION THEOREMS FOR FOURTH ORDER DIFFERENCE EQUATIONS

#### EWA SCHMEIDEL

ABSTRACT. This paper is concerned with a class of fourth order nonlinear difference equations. Two types of nonoscillatory solutions will be considered. Relations between these types of solutions and their oscillatory behavior are the main purpose of this paper.

1. Introduction. In several papers the oscillatory and asymptotic behavior of solutions of third order difference equations have been discussed. For example, note the papers [12]-[15] and [17]. When compared to differential equations the study of difference equations has received little attention for orders greater than three. Fourth order linear difference equations are considered in [4], [6], [16], [18] and [19]. Fourth order nonlinear difference equations are studied in [10], [11] and [20].

In this paper we will study fourth order difference equations

(E) 
$$\Delta^4 y_n = f(n, y_n), \quad n \in N = \{0, 1, 2, \dots\}$$

where  $\Delta$  is the forward difference operator  $\Delta y_n = y_{n+1} - y_n$  and  $\Delta^k y_n = \Delta(\Delta^{k-1} y_n)$  for  $k = 2, 3, \ldots$ . The sequence  $y = \{y_n\}$  is the trivial sequence if there exists  $n_0 \in N$  such that  $y_n = 0$  for all  $n \geq n_0$ . By a solution of (E), we mean any nontrivial sequence  $\{y_n\}$ satisfying equation (E), for all  $n \in N$ . In general, we will assume that the usual existence and uniqueness theorem for solutions of equation (E) holds. A solution is oscillatory if, for every  $m \in N$ , there exists  $n \geq m$  such that  $y_n y_{n+1} \leq 0$ . Therefore a nonoscillatory solution is eventually positive or eventually negative. We assume that void sum is equal to zero. In the paper we assume that this function  $f: N \times R \to R$ satisfies condition

(\*) 
$$xf(n,x) < 0 \text{ for } n \in N, \ x \in R \setminus \{0\}.$$

<sup>1991</sup> AMS Mathematics Subject Classification. 39A10. Key words and phrases. Difference equation, fourth order, oscillatory and nonoscillatory solutions.

Received by the editors on September 1, 2000, and in revised form on July 11, 2001.

Copyright ©2003 Rocky Mountain Mathematics Consortium

We define operator F as

$$F(x_n) = x_{n-1}\Delta^3 x_n - \Delta x_{n-1}\Delta^2 x_n, \quad n \in \mathbb{N}.$$

We use the F operator to classify solutions of equation (E).

**Definition.** If  $F(y_n) \ge 0$  for all  $n \in N$ , then a solution y of equation (E) is called  $F_+$ -solution. If  $F(y_n) < 0$  for some n, then a solution y of equation (E) is called  $F_-$ -solution.

Operator F divides the set of solutions into two disjoint subsets  $F_+$  and  $F_-$ -solutions.

The following properties, see [10], of nonoscillatory solutions of equation (E) are known. Every nonoscillatory solution  $\{y_n\}$  of equation (E) is one of four types:

(A4+)	$y_n > 0,$	$\Delta y_n > 0,$	$\Delta^2 y_n > 0,$	$\Delta^3 y_n > 0,$	$\Delta^4 y_n < 0,$
(A4-)	$y_n < 0,$	$\Delta y_n < 0,$	$\Delta^2 y_n < 0,$	$\Delta^3 y_n < 0,$	$\Delta^4 y_n > 0,$
(A2+)	$y_n > 0,$	$\Delta y_n > 0,$	$\Delta^2 y_n < 0,$	$\Delta^3 y_n > 0,$	$\Delta^4 y_n < 0,$
(A2-)	$y_n < 0,$	$\Delta y_n < 0,$	$\Delta^2 y_n > 0,$	$\Delta^3 y_n < 0,$	$\Delta^4 y_n > 0,$

eventually.

In the paper we consider the relationship between  $F_+$ ,  $F_-$ -solutions and (A4+), (A4-), (A2+), (A2-) types.

# Lemma 1.

(1) 
$$\Delta F(y_n) = y_n \Delta^4 y_n - \Delta^2 y_{n-1} \Delta^2 y_{n+1}.$$

The proof is evident.

**Lemma 2.** If  $\{y_n\}$  is a nonoscillatory  $F_+$ -solution of equation (E), then

(2) 
$$\sum_{n=1}^{\infty} (\Delta^2 y_{n-1}) (\Delta^2 y_{n+1}) < \infty,$$

and

(3) 
$$\lim_{n \to \infty} (\Delta^2 y_{n-1}) (\Delta^2 y_{n+1}) = 0.$$

*Proof.* Let  $\{y_n\}$  be an  $F_+$ -solution of equation (E). From (1), we get

$$\Delta F(y_k) = y_k f(k, y_k) - \Delta^2 y_{k-1} \Delta^2 y_{k+1}.$$

Now by summation, we obtain

$$F(y_n) = F(y_1) + \sum_{k=1}^{n-1} y_k f(k, y_k) - \sum_{k=1}^{n-1} \Delta^2 y_{k-1} \Delta^2 y_{k+1}.$$

Since  $F(y_n) \ge 0$ , then

$$0 \le F(y_1) + \sum_{k=1}^{n-1} y_k f(k, y_k) - \sum_{k=1}^{n-1} \Delta^2 y_{k-1} \Delta^2 y_{k+1},$$

and, from (\*),

$$F(y_1) \ge \sum_{k=1}^{n-1} \Delta^2 y_{k-1} \Delta^2 y_{k+1}.$$

Hence,

$$\sum_{k=1}^{\infty} \Delta^2 y_{k-1} \Delta^2 y_{k+1} < \infty.$$

Condition (3) follows directly from (2).

#### Main results.

**Theorem 1.** If  $\{y_n\}$  is a nonoscillatory solution of equation (E), then  $F(y_n)$  is an eventually decreasing function on N.

*Proof.* Let  $\{y_n\}$  be an eventually positive solution of equation (E). (For an eventually negative solution, the proof is similar.) Then  $\{y_n\}$  is

an (A4+)-solution or an (A2+)-solution, implies  $\Delta^2 y_{n-1} \Delta^2 y_{n+1} > 0$ . From (1) and (\*), we have

$$\Delta F(y_n) = y_n \Delta^4 y_n - \Delta^2 y_{n-1} \Delta^2 y_{n+1} = y_n f(n, y_n) - \Delta^2 y_{n-1} \Delta^2 y_{n+1} < 0.$$

Hence the proof is complete.  $\hfill \Box$ 

Remark 1. Assume  $\{y_n\}$  is a positive or negative solution of equation (E); then  $F(y_n)$  is a decreasing function on N.

**Theorem 2.** If  $\{y_n\}$  is a nonoscillatory  $F_+$ -solution of equation (E), then

(4) 
$$\sum_{n=1}^{\infty} (\Delta^{2+j} y_n)^2 < \infty,$$

and

(5) 
$$\lim_{n \to \infty} \Delta^{2+j} y_n = 0 \quad for \ j = 0, 1, 2, \dots$$

 $\sim$ 

*Proof.* We prove (4) for j = 0 first. Let  $\{y_n\}$  is an eventually positive solution of equation (E). (For an eventually negative solution, the proof is similar.) Then  $\{y_n\}$  is an (A4+)-solution or an (A2+)-solution. Let  $\{y_n\}$  be an (A4+)-solution. Then  $\Delta^2 y_{n+1} > \Delta^2 y_{n-1} > 0$ . Hence  $\Delta^2 y_{n-1} \Delta^2 y_{n+1} > (\Delta^2 y_{n-1})^2$ , and

$$\sum_{n=1}^{\infty} \Delta^2 y_{n-1} \Delta^2 y_{n+1} > \sum_{n=1}^{\infty} (\Delta^2 y_{n-1})^2.$$

From Lemma 2,

$$\sum_{n=1}^{\infty} \Delta^2 y_{n-1} \Delta^2 y_{n+1} < \infty.$$

Then we get

$$\sum_{n=1}^{\infty} (\Delta^2 y_n)^2 < \infty.$$

If  $\{y_n\}$  is an (A2+)-solution, the proof is analogous.

We will prove (4) by induction.

Let

$$\sum_{n=1}^{\infty} (\Delta^{2+j} y_n)^2 < \infty.$$

We will prove that  $\sum_{n=1}^{\infty} (\Delta^{2+j+1} y_n)^2 < \infty$ . Using inequality  $-2ab \leq a^2 + b^2$ , we have

$$\begin{split} (\Delta^{2+j+1}y_n)^2 &= (\Delta^{2+j}y_{n+1})^2 - 2\Delta^{2+j}y_{n+1}\Delta^{2+j}y_n + (\Delta^{2+j}y_n)^2 \\ &\leq 2(\Delta^{2+j}y_{n+1})^2 + 2(\Delta^{2+j}y_n)^2. \end{split}$$

 $\operatorname{So}$ 

$$\sum_{n=1}^{\infty} (\Delta^{2+j+1} y_n)^2 \le 2 \sum_{n=1}^{\infty} (\Delta^{2+j} y_{n+1})^2 + 2 \sum_{n=1}^{\infty} (\Delta^{2+j} y_n)^2$$
$$= 2 \sum_{n=2}^{\infty} (\Delta^{2+j} y_n)^2 + 2 \sum_{n=1}^{\infty} (\Delta^{2+j} y_n)^2 < \infty$$

Hence (4) holds for j = 0, 1, 2, ...

Condition (5) follows directly from (4).

**Theorem 3.** If there exists  $\varepsilon > 0$  such that

(6) 
$$|f(n,x)| \ge \varepsilon \quad for \ (n,x) \in N \times \{R \setminus \{0\}\},$$

then equation (E) does not have a nonoscillatory  $F_+$ -solution.

*Proof.* Suppose that there exists a nonoscillatory  $F_+$ -solution  $\{y_n\}$  of equation (E). By Theorem 2, we have

$$\lim_{n \to \infty} \Delta^4 y_n = 0.$$

Then, from equation (E),  $\lim_{n\to\infty} f(n, y_n) = 0$ , so  $\lim_{n\to\infty} |f(n, y_n)| =$ 0. On the other hand, by (6), if there exists  $\lim_{n\to\infty} |f(n, y_n)|$ , then  $\lim_{n\to\infty} |f(n,y_n)| \ge \varepsilon$ . The proof is completed by contradiction.

Solution  $\{y_n\}$  of equation (E) is called an *F*-solution if  $\{y_n\}$  is an *F*<sub>+</sub>-solution or an *F*<sub>-</sub>-solution. Solution  $\{y_n\}$  of equation (E) is called an (A2)-solution if  $\{y_n\}$  is an (A2+)-solution or (A2)-solution. Solution  $\{y_n\}$  of equation (E) is called an (A4)-solution if  $\{y_n\}$  is an (A4+)-solution or an (A4-)-solution. Solution  $\{y_n\}$  of equation (E) is called an A-solution if  $\{y_n\}$  is an (A2)-solution or (A4)-solution.

**Theorem 4.** Each nonoscillatory  $F_+$ -solution of equation (E) is an (A2)-solution. Each (A2)-solution is an  $F_+$ -solution.

*Proof.* Let  $\{y_n\}$  be any eventually positive solution. (The proof for eventually negative solution is similar.)

Assume that  $\{y_n\}$  is an  $F_+$ -solution. Suppose to the contrary that  $\{y_n\}$  is an (A4+)-solution. Then  $\Delta^3 y_n > 0$  and  $\Delta^2 y_n > 0$  so  $\{\Delta^2 y_n\}$  is an eventually increasing positive sequence. This contradicts condition (5). Then  $\{y_n\}$  is an (A2+)-solution.

Assume that  $\{y_n\}$  is an (A2+)-solution. Then we have:  $y_n > 0$ ,  $\Delta^3 y_n > 0$ ,  $\Delta y_n > 0$  and  $\Delta^2 y_n < 0$ , so  $F(y_n) > 0$  eventually.

**Theorem 5.** Let  $\{y_n\}$  be a positive solution of equation (E). If

(7) 
$$\sum_{n=1}^{\infty} (\Delta^2 y_n)^2 < \infty,$$

then  $\{y_n\}$  is an  $F_+$ -solution.

Proof. Let  $\{y_n\}$  be a positive solution of equation (E), for which condition (4) holds. Suppose that  $\{y_n\}$  is an  $F_-$ -solution. Then, for some  $m \in N$ , we have  $F(y_m) < 0$ . So, by Remark 1,  $F(y_n) <$  $F(y_m) < 0$  for  $n \ge m$ . Since  $\{y_n\}$  is a positive solution of equation (E) then  $\{y_n\}$  is an (A4+)-solution or (A2+)-solution. We exclude both of the cases. For the (A4+)-solution we have  $\sum_{n=1}^{\infty} \Delta^2 y_n = \infty$ , so  $\sum_{n=1}^{\infty} (\Delta^2 y_n)^2 = \infty$ . By Theorem 4, the (A2+)-solution is an  $F_+$ solution. Thus  $\{y_n\}$  is an  $F_+$ -solution.

Remark 2. Let  $\{y_n\}$  be a negative solution of equation (E). If condition (7) holds, then  $\{y_n\}$  is an  $F_+$ -solution.

Remark 3. Let  $\{y_n\}$  be a negative or positive solution of equation (E). Then  $\{y_n\}$  is an  $F_+$ -solution if and only if

$$\sum_{n=1}^{\infty} (\Delta^2 y_n)^2 < \infty.$$

**Theorem 6.** If  $\{y_n\}$  is a nonoscillatory  $F_-$ -solution of equation (E), then  $\{y_n\}$  has an unbounded first difference.

*Proof.* By Theorem 4, the nonoscillatory  $F_{-}$ -solution has to be an (A4)-solution. Then, for an eventually positive solution, we have

$$\Delta^2 y_n > \Delta^2 y_m > 0 \quad \text{for } n > m,$$

so by summation we get

$$\Delta y_n \ge \Delta y_m + (n-m)\Delta^2 y_m, \quad n \ge m.$$

Hence  $\lim_{n\to\infty} \Delta y_n = \infty$ .

Remark 4. Every nonoscillatory  $F_{-}$ -solution of equation (E) is unbounded.

*Proof.* Suppose that  $\{y_n\}$  is an  $F_-$ -solution of equation (E) and  $\{y_n\}$  is bounded. Then there exists C such that

$$|y_n| \le C \quad \text{for } n \in N.$$

So  $|\Delta y_n| \le |y_{n+1}| + |y_n| \le 2C$ . It is impossible by Theorem 4.

Remark 5. Every nonoscillatory bounded solution of equation (E) is an  $F_+$ -solution.

*Remark* 6. Every nonoscillatory  $F_+$ -solution of equation (E) has a bounded first difference.

**Theorem 7.** If there exists a positive constant  $\delta$  such that

(8) 
$$xf(n,x) \leq -\frac{\delta}{n}, \quad for (n,x) \in N \times \{R \setminus \{0\}\}.$$

then equation (E) does not have a nonoscillatory  $F_+$ -solution.

 $\mathit{Proof.}$  Suppose that there exists an  $F_+\text{-solution}$  of equation (E). Let  $\{y_n\}$  be such a solution. Then

$$0 < F(y_m) = F(y_1) + \sum_{j=1}^{m-1} y_j f(j, y_j) - \sum_{j=1}^{m-1} \Delta^2 y_{j-1} \Delta^2 y_{j+1}.$$

Hence

$$-\sum_{j=1}^{m-1} y_j f(j, y_j) < F(y_1) - \sum_{j=1}^{m-1} \Delta^2 y_{j-1} \Delta^2 y_{j+1}.$$

From Lemma 2

$$-\sum_{j=1}^{\infty} y_j f(j, y_j) < F(y_1) - \sum_{j=1}^{\infty} \Delta^2 y_{j-1} \Delta^2 y_{j+1} < \infty.$$

On the other hand, by (8),

$$-y_j f(j, y_j) \ge \frac{\delta}{j}.$$

Then

$$-\sum_{j=1}^{\infty} y_j f(j, y_j) \ge \delta \sum_{j=1}^{\infty} \frac{1}{j} = \infty.$$

The proof is complete by contradiction.

**Theorem 8.** If for arbitrary positive constant  $\varepsilon$  there exists  $\delta = \delta(\varepsilon) > 0$  such that

(9) 
$$|f(n,x)| > \frac{\delta}{n^2}, \text{ for } n \in N \text{ and } |x| > \varepsilon,$$

then every  $F_+$ -solution of equation (E) is oscillatory.

*Proof.* Let  $\{y_n\}$  be a nonoscillatory  $F_+$ -solution of equation (E). Then, from Theorem 2,

$$\lim_{n \to \infty} \Delta^2 y_n = \lim_{n \to \infty} \Delta^3 y_n = 0.$$

Suppose that  $\{y_n\}$  is an eventually positive solution of equation (E). (For an eventually negative solution the proof is similar.) Then there exists  $m \in N$  such that  $y_n > 0$  for n > m. Summing equation (E), we obtain

$$\Delta^3 y_n - \Delta^3 y_k = \sum_{j=k}^{n-1} f(j, y_j).$$

Then

(10) 
$$-\Delta^3 y_k = \sum_{j=k}^{\infty} f(j, y_j).$$

Therefore series  $\sum_{j=k}^{\infty} f(i, y_j)$  converges. From (10), we have

(11) 
$$-\Delta^2 y_n + \Delta^2 y_m = \sum_{k=m}^{n-1} \sum_{j=k}^{\infty} f(j, y_j).$$

Then  $\Delta^2 y_m = \sum_{k=m}^{\infty} \sum_{j=k}^{\infty} f(j, y_j)$ . Therefore, series  $\sum_{k=m}^{\infty} \sum_{j=k}^{\infty} f(j, y_j)$  converges. Also

$$\sum_{k=m}^{n-1} \sum_{j=k}^{\infty} f(j, y_j) = \sum_{k=m}^{n-2} (k+1-m) f(k, y_k) + (n-m) \sum_{k=n+1}^{\infty} f(k, y_k)$$
$$\leq \sum_{k=m}^{n-2} (k+1-m) f(k, y_k),$$

for n > m. From (11), we get

$$\Delta^2 y_n - \Delta^2 y_m \ge -\sum_{k=m}^{n-2} (k+1-m)f(k, y_k)$$

So,

$$-\Delta^2 y_m = \lim_{n \to \infty} [\Delta^2 y_n - \Delta^2 y_m]$$
  

$$\geq \sum_{k=m}^{\infty} (k+1-m)[-f(k,y_k)]$$
  

$$\geq \sum_{k=m}^{\infty} (k+1-m) \frac{\delta}{k^2} = \infty.$$

Because  $-\Delta^2 y_m$  is finite, the obtained contradiction proves our theorem.

**Theorem 9.** Assume that f is nondecreasing on  $(0, \infty)$  and nonincreasing on  $(-\infty, 0)$ . If

(12) 
$$\sum_{j=1}^{\infty} j^3 |f(j,C)| = \infty,$$

for every constant  $C \neq 0$ , then equation (E) does not possess a nonoscillatory bounded solution.

*Proof.* Let  $\{y_n\}$  be a nonoscillatory bounded solution of equation (E). Then, by Remark 5,  $\{y_n\}$  is an  $F_+$ -solution and, by Theorem 4,  $\{y_n\}$  is an (A2)-solution. Let  $\{y_n\}$  be an (A2+)-solution. (For the (A2-)-solution the proof is similar.) Let us denote

(13) 
$$v_n = \sum_{k=0}^3 \frac{(-1)^k}{(3-k)!} (n+2-k)^{(3-k)} \Delta^{3-k} y_n, \quad n \in \mathbb{N},$$

then

$$\Delta v_n = \frac{1}{6}(n+3)^{(3)}\Delta^4 y_n,$$

hence

$$\Delta v_n = \frac{1}{6}(n+3)^{(3)}f(n,y_n).$$

Summing the equality, we have

$$v_n = v_{n_0} + \frac{1}{6} \sum_{j=n_0}^{n-1} (j+3)^{(3)} f(j,y_j).$$

Let  $v_{n_0} = C$ . From (13) and by definition of an (A2+)-solution, we get

$$-y_n - \frac{1}{6} \sum_{j=n_0}^{n-1} (j+3)^{(3)} f(j,y_j) < C.$$

Since  $\{y_n\}$  is increasing and bounded, there exists a constant  $C_1$  such that  $y_n \leq C_1$  and  $f(j, y_j) \leq f(j, C_1)$ . Therefore,

$$-\sum_{j=n_0}^{n-1} (j+3)^{(3)} f(j,C_1) \le -\sum_{j=n_0}^{n-1} (j+3)^{(3)} f(j,y_j) < 6C_1 + 6C = C_2.$$

Hence

$$\sum_{j=n_0}^{n-1} (j+3)^{(3)} |f(j,C_1)| < C_2 \quad \text{for } n > n_0.$$

Letting n go to infinity, we obtain

$$\sum_{j=n_0}^{\infty} (j+3)^{(3)} |f(j,C_1)| \le C_2$$

but  $(j+3)^{(3)} = (j+3)(j+2)(j+1) > j^3$ , so we obtain contradiction with (12).

## REFERENCES

1. R.P. Agarwal, Difference equations and inequalities, in Theory, methods and applications, Marcel Dekker, Inc., New York, 1992.

 ${\bf 2.}$  D. Anderson, A 2nth-order linear difference equation, Appl. Anal.  ${\bf 2}$  (1998), 521–529.

**3.** D. Anderson and A. Peterson, Asymptotic properties of solutions of a 2nth order differential equation of a time scale, Math. Comput. Modelling **32** (2000), 653–660.

4. L. Bin and Y. Jurang, Oscillatory and asymptotic behavior of fourth order nonlinear difference equations, Acta Math. Sinica 13 (1997), 105–115.

 ${\bf 5.}$  S.N. Elaydi, An introduction to difference equation, Springer-Verlag, New York, 1996.

**6.** J.W. Hooker and W.T. Patula, Growth and oscillation properties of solutions of a fourth order linear difference equation, J. Austral. Math. Soc. **26** (1985), 310–328.

**7.** W.G. Kelley and A.C. Peterson, *Difference equations: An introduction with applications*, 2nd ed., Academic Press, Boston, 2001.

8. M. Morelli and A. Peterson, A third-order differential equation on a time scale, Math. Comput. Modelling 32, (5-6) (2000), 565–570.

9. T. Peil and A. Peterson, Asymptotic behavior of solutions of a two term difference equation, Rocky Mountain J. Math. 24 (1994), 233–252.

10. J. Popenda and E. Schmeidel, On the solution of fourth order difference equations, Rocky Mountain J. Math. 25 (4) (1995), 1485–1499.

11. E. Schmeidel and B. Szmanda, Oscillatory and asymptotic behavior of certain difference equation, Nonlinear Anal., 47 (2001), 4731–4742.

12. B. Smith, Quasi-adjoint third order difference equations: Oscillatory and asymptotic behavior, Internat. J. Math. Sci. 9 (4) (1986), 781-784.

13. \_\_\_\_\_, Oscillation and nonoscillation theorems for third order quasi-adjoint difference equations, Portugal. Math. 45 (3) (1988), 229–243.

14. ——, Oscillatory and asymptotic behavior in certain third order difference equations, Rocky Mountain J. Math. 17 (3) (1987), 597–606.

15. ——, Linear third order difference equations: Oscillatory and asymptotic behavior, Rocky Mountain J. Math. 22 (4) (1992), 1559–1564.

16. B. Smith and W.E. Taylor, Oscillatory and asymptotic behavior of certain fourth order difference equations, Rocky Mountain J. Math. 16 (2) (1986), 403–406.

**17.**——, Asymptotic behavior of solutions of a third order difference equation, Portugal. Math. **44** (2) (1987), 113–117.

**18.**——, Oscillation properties of fourth order linear difference equations, Tamkang J. Math. **18** (4) (1987), 89–95.

**19.** W.E. Taylor, Oscillation properties of fourth order difference equations, Portugal. Math. **45** (1) (1988), 105–144.

**20.** B.G. Zhang and S.S. Cheng, On a class of nonlinear difference equations, J. Difference Equations Appl. **1** (1995), 391–411.

Institute of Mathematics, Poznań University of Technology, Piotrowo 3A, 60-965 Poznań, Poland

 $E\text{-}mail\ address: \texttt{eschmeid@math.put.poznan.pl}$